NAME: Date: Grade:

GREEK 101
w Exam 1A =«

KEY

(From Grade Calculation on last page)

SsTrandate (38 answer s):

0 [TodAog Eypaodev EMLGTOANY T@ Aod. £V i) €XL6TOAN EAEYEV 0VTOLG 0TL O Incodg 0 XplLotdg €artiy,
KOl 0Tt 0 KUplog B€AeL d1d0vaL v olwviov {ony. Totdtofev avTol TKOVOV GO TAV TPOONTAY OTL O
0e0¢ amoctéALeL TOV Meooiav a0toD, Kol VOV 0 TOGTOAOG EAEYEV aVTOLG OTL O XPLoTOC MOE E0TLV.

Paul was writing a letter to the people. In the letter he was saying to them that Jesus is the Christ, and

that the Lord wants to give eternal life. From childhood they had been hearing from the prophets that God
is sending his Messiah, and now the apostle was saying to them that the Christ is here.

o<Parse (92 answers):

0 TTadrog (7 answers): Proper Name - Nom (Subj) - M - S - TTadhog, 6 - the apostle
gypodev (8 answers): Imperf (Desc) - Act - Ind - 3 - S - ypddow - he was writing
eémiotoAny (7 answers): 1 - Acc (Dir Obj) - F - S - émiotodn, 1 - a letter

1@ Aad (7 answers): 2 - Dat (Indir Obj) - M - S - Ladg, o - to the people

£v 1] eémotoldj (7 answers): 1 - Loc (Place) - F - S - éniotoln, 1 - in the letter letter
éheyev (8 answers): Imperf (Desc) - Act - Ind - 3 - S - Aéyw - he was saying

ovtoig (10 answers): Pers Pron - Dat (Indir Obj) - M - P - av1tdg, -1, -6 - to them

6t (4 answers): subordinate conjunction introduction conjunctory substantival object dependent clause -
that

0 'Inocotg (7 answers): Proper Name - Nom (Subj) - M - S - "Incoftc, 6 - Jesus
0 Xplotdg (7 answers): 2 - Nom (Pred) - M - S - Xpiotdg, 0 - the Christ

€otiv (7 answers): Pres (Desc) - Ind -3 -S - el - heis

kol coordinate conjunction joining two dependent clauses - and

6t (4 answers): subordinate conjunction introduction conjunctory substantival object dependent clause -
that

0 xVplog (7 answers): 2 - Nom (Subj) - M - S - k¥pog, o - the Lord

0é)el (8 answers): Pres (Desc) - Act - Ind - 3- S - 6élw - he wishes, wants
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dddvar (8 answers): Pres (Desc) - Act - Infin (S: Obj) - 8idwut - to give

mv atdviov (8 answers): Adj (Attrib) - Acc - F - S - aldviog, -ov - eternal

Comyv (7 answers): 1 - Acc (Dir Obj) - F-S - Con, 1 - life

nodiobev: Adv of time - from childhood

ovtot (10 answers): Pers Pron - Nom (Subj) - M - P - av1dc, -1, -6 - they

fikovov (7 answers): Imperf (Dur) - Act - Ind - 3 - P - dkovw - they had been hearing

amno tédv tpoontdv (7 answers): 1 - Abl (Source) - M - P - wpodnng, o - from the prophets

6t (4 answers): subordinate conjunction introduction conjunctory substantival object dependent clause -
that

0 0e0¢ (7 answers): 2 - Nom (Subj) - M - S - 6ed¢, 0 - God

arootéAlel (8 answers): Pres (Desc) - Act - Ind - 3 - S armootélo - he is sending
tov Meooiov (7 answers): 1 - Acc (Dir Obj) - M - S - Meootag, 6 - the/his Messiah
ovto® (10 answers): Pers Pron - Gen (Poss) - M - S - avtdg, -1, -6 - his

kol coordinate conjunction joining two independent clauses - and

viv: Adverb of time - now

0 amdotorog (7 answers): 2 - Nom (Subj) - M - S - andotodrog, 6 - the apostle

€ eyev (8 answers): Imperf (Desc) - Act - Ind - 3 - S - Aéyw - he was saying
ovtoig (10 answers): Pers Pron - Dat (Indir Obj) - M - P - av1dg, -1, -6 - to them

6t (4 answers): subordinate conjunction introduction conjunctory substantival object dependent clause -
that

0 Xplotog (7 answers): 2 - Nom (Subj) - M - S - Xpuotdg, 0 - Christ
®de: Adverb of place - here

€otiv (7 answers): Pres (Desc) - Ind -3 - S - eiul - he is



3 Decline (24 answer s):
1-2 Declension Nouns

Case: Masculine: Feminine:
2nd Dec: 1st Dec: 1st -n:
Singular:
Nom KVPLOG TPOPNTING E€TLGTOAN
Gen/Abla Kuplov TPOONTOV E€MLGTOANG
Dat/Ins/Loc  kvpiw TPOONTY £TLOTOAT
Acc KVpLoV TPOYRTNV E€TLGTOANV
Plural:
Nom KUpLot TPOONTOL €MLGTOANL
Gen/Abla Kuplov TPOONTAOV £MLGTOADV
Dat/Ins/Loc  kvpiotg TPOPNTALG EML6TOANIG
Acc Kvplovg TPOONTOG €MLGTOACG

«*Conjugate the following verbs according to the appropriate model (12 answers):
Present - Active - Indicative Forms of ypdéw (6 answers):

Person:  Singular Plural

1 YPGO® YPOOOUEV

2 YPOOELS YpOoETE

3 YPOOEL ypadovoi(v)

Present - Indicative Forms of iui (6 answers):

Person:  Singular Plural
1 gt €ouév
2 el £€0T€

3 goti(v) eloi(v)

********************GRADE CALCULAT' ON********************

Nunber of Errors . Total Pts. 100. 00
M ssed accents and breathing narks
= 1/4 error per word M nus Pts.
Ti mes 0. 60 M ssed
Total Pts. M ssed : G ade
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